4/2018 (1) (E10)

1. Allcircles are
(A) congruent (B) similar

vl pse
LIEF eyclic (@) none ol "
the
2. If x2 — x — 42 is divided by ¥ * 6.
remainder will be
(A) 7 (B) -6 5
U0 (D) none of 1S
3. Recrystallisation of sodium carponate
gives
(A) Baking soda
\_{B)” Washing soda

(C) Bleaching powder
(D) Plaster of paris

4. The combination of certain Janapada were

called as
(A) Mandal ‘(B(Dislrict
(C) Gana (D) Hobali
5. Read the following descriptions about types
of biomes.
1. Grasslands of South Africa are called
Velds.

2. Grasslands of North America are
called Prairies.

3. These both are temperate grasslands
biome.

Select the right answer given below.

(A) 2only (B) 14 nly
(C) 3only L,pEIT‘/Nfihe above

6. Mahabharatha has Chapters.
18 (B) 20
(C) 22 (D) 24

7. Find the missing term (?) from the options

for MN, JQ, GT, ?, AZ, XC.
(A) EW W

(C) EX (D) DX

Il IilWlllllillﬂlllll?llﬂll‘lIlllﬁlﬂ fuii

T s |
. @l _—7 B) "IED
(Ah,f‘%’f" (D) il 8 LT
() 7% S
uﬂﬁ/i X dzaﬁmsﬂﬁmﬁmm
2. X =R
Al ‘-ﬁq‘ﬁaﬁm (B) -6
(g; z (D) E’Wﬁaﬁﬁ
(
. )
5. AfemFERe F I T
el
(A) ﬁrﬁ?ﬂﬁ?@
(B) uraim?ﬂ
(C) ?ﬂﬁmm
(D) el AT
. |
4. FO SEE F EA sl
(A) T (B) fem
() T (D) dae

of s 3 i i P fae e |
| 2 s ) O yfEEl dcsd

HEeTd © | ‘

» 3 s ) am wfrl SE
FEard! & |

3. A 2 v wfeada T i aEm
21

fia foq o wd I g )

(A) Had 2 (B) Hae 1

(C) Fad 3 (D) Jaa @i

6. HEIMTd o AR |
(A) 18 (B) 20
[C) 22 (D) 24

7. MN,JQ,GT,?,AZ, XC &g = 1 (?) faseai
8 14 |
(A) EW (B) DW
(C) EX (D) DX
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g The equation 3x—y = 5 is same as

9.\:—-3y+c:‘0ilc= /f”’
(A) 15 L - 15
(C) —-10 (D) none of these

9. The eldesl SON of Pandavas is
(A) Bahudhanyaka
(87 Yudhishthira

(C) Prjotpathi
(D) Angeerasa
10. If 1= October was Monday, then 11*" October
lies oA
\(A] Thursday (B) Friday
(D) Monday

(C) Wednesday

Consider the following statements regarding

11.
yan mountains and its rivers and

Himala

select the right one.

(A) The Himalayan mountains are young,
weak and flexible in their geological

structure
(B) Himalayas are dissected by fast-
flowing rivers which are in their

youthful stage
(C) Both are wrong
JPr Both are right

12. The point on x-axis which is equidistant from

the point (7, 6) and (= 3, 4) i
(A) (-1.0) M 0)
(C) (-4.0) (D) (3,0)

13. The age of father is 5 times that of his son.
3 years ago, the age of father was 8 times
that of his son. Find the present age of

father.
(A) 42 years
(B) 48 years

(C) 40years
\Wears

3=

10.

1

&

13.

_10

el

s o 2, @ 14 SR
@ TN
FreET

(D)

(D) S & ®
x-gﬂq:a%ﬁgsﬁﬁgw.s)aﬁt(—s.@

JEAA QTR ,
®) 1,0 @20
(C) (~4.,0) (D) (3,0) _

frer 61 31T A <P TG 1 9 AT | 3=
uﬁﬁmsﬁanggaﬁmmaﬂmaﬁ |
e <Y AT 3 R :
(A) 42T¥
(B) 48ad
(C) 40TH
(D) 35a8
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‘\_\}Uﬁ (C) Bhiwani

One of the South Asias oldest road in

o 3

15
- F -
Our cubes pach of side § €M are joined

em_j 0 end. The surface areao!M® resulting
d s

(A) 225 cm?
(B) 20 om?

'«a-te)-'%o .ty
©) 500 cm

16. :

Which of the following form an AP ?
A 1.1.2,2,3,3,.
®) 03 033 0.333, . ..

—

(C) _1'_1
O
V2. V8, V18, 32, ..

17. L] ]
'T"+* means ', " means ', 'x' means '+’
and '+’ means ‘4 then, 12x4+12+5-3=
(A) 4 (B) 15

(C) 30 M

Indori river rises near

(A) Indore (B) Kaithal

(D) Karnal

19.
Haryana is
(A) Hundred Feet Road
(B) M.G. Road
(C) Main Tank Bund Road

\y)/Gr/a?ud Trunk Road

20. If the area of a semi circular field is
30800 sg.m. then the perimeter of the

field is (use - 2%)

(A) 240m
(C) 460m

720m
(D) 840m

VAT

/ s __y@tﬁfﬁﬁ’!'?ﬁﬂvﬁﬁ

14.  wformon &
AT TR |
(A) 5

(C) 4

(B) 6
(D) 3
5 1,11, aan Al T AT U H4 1S
o 1 o) 2v e Eee 2

(A) 225cm?

(B) 20cm’

(C) 450 cm?

(D) 500 cm?

e 7

16. Frefofad § & AF-11 0 gHE Ao e
(A) 1,1,2,2,33, ...
(B) 0.3,0.33,0.333,. ..

© -

15.

1
IBI"

En
J2, 48,18, 4/32,...

17. TRy R, I Y, ] AT
afr oo R, AM12x4+12+5-3=

PN

(D)

(A) 4 (B) 15
(C) 30 (D) ©
/1? i mIeE_ FEed
= (A) =N (B) e
(C) Tar (D) =TT
19, zferorufirn = wreian gEH H ° T g
i 2 | .
(A) BT
(B) wH.Sf. TS
(C) T 3F @3 U
(D) TS 3% s
72 U HgERR Wd F SAEA
30800 a . Hi. & dl W ) gfmmy
(n=2%mﬂnﬁ) ‘
(A) 240 m (B) 720m
(C) 460 m (D) 840m
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t “, f Nancial Buagget tor 2017 - 18 was
‘nh ®3 by Haryana finance Minister

(A) -\'-f\h;]l\;“;‘ Kanat

‘ ~
\_(3)" Captain apnimanyu
() \‘t*nk.w\-;m Nadu
\D\ \-"hid*\ml\;]l.llﬂ

22

E:- N“\\
(A)
8)

Ull\'l" D"\p-‘“u““‘nl 15 ll\i "\'
Chiet thstm

ey

LOvemyoy

Home Minister

Eir -
FINAance Ministe!

()
(O
23 M ,
+ Nomal range ot breathing rate per minute
N ’DAVErage adult person at rest is

X&) 9-12
(B) 15-18
21-24

30-33

(&
(D)

24. Following is the function of stomata

(A) Translocation
\_4BY Exchange of gases
(C) Protein synthesis

(D) Reproduction

25. InIndia the first State to introduce Mid-day
meals in schools is

(A) Himachal Pradesh

(B) Meghalaya

ucvf’ém Nadu

(D) Punjab

26. Solutions of the equation x° +V2x-4=0

are

(A 2,42

'\/(_.9;45.+2J§

(C) 0,4
(D) 0,0

RS
*3

21.

2\

23.

24.

25.

26.

4/2018 (1) (E10)
_qp i o, fret wrere wfrann @ fa
00! AU T T A
afl

mf_]»ll‘l”g
(N g b
(RFTEIEICES
() F“"“"”

(D

foam wr Ager g R

_'llpi.n;ilfi.
L
(A) R
(8) mﬂ[}n

‘B: f AT

(

fmmaﬁ'ﬂ 0 U s aeper i 9 748
E'ﬁ',ﬁa firre v Tifd @

©) 2
D) 3

e 51 % e
(A) f :.\.

(B) al ﬁialﬁqﬂ

() W ey

(D) TR

i H HEATEA it fererTerdi H 3pe s et
RIS PER

(B) TS

(ORUILSEIEA

(0) T

0-33

THFO %2 + Y2 X -4 =0 F ol &
A 2,42
B) V2,-22

C) 0,4
D) 0,0
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28.

29,

30.

31.

Which of the 1oj1owing 5"“?"'::’",:5 'S

incc_’,rFB.Ci about Fyngame™® Rights t'hese
\__{.\)‘ New‘echﬂologies ma).endanger

rights N

(B) Equality moral and political

[ e .
el @ superior to

ideals in Ingja they &
ordinary laws .
In India these are econemic and
political rights integral part of the
Constitution

InIndia it jg rightly described as Magna
Cana of India

(C)

(D)

Read the foflowing sentences about LEDs

and choose a Correct option.

(A) They contain mercury

5 fzi'hey Consume |ess electricity because
they produce very less heat

(C) Both (A) ang (B) are correct

(D) Both (A) ang (B) are wrong

Mahila Police Volunteer systemis introduced
In two Districts, Onein

(A) Panipath
Karnal

(C) Kurukshetra

(D) Ambala

If ‘SUN’ can be coded as ‘54’ then ‘MOON!’
can be coded as

(A) 58
57

(B) 51
(D) 47

During 1857, Sepoy mutiny the Moghul

emperor Bahadurshah Zafar was arrested
by

Main Hudson

(B) John Nicholson

(C) Sir Hugh Rose
(D) Colin Campbell

27.

28.

29.

30.

(I R EHR AR R RO ERR IO
fers i & an 4 Frefafaa 4 3
FT-T1 o FEE R ?
(A) T8 T 39 ot 6 [0 Ga
Tl 2 |
(B) Wwa H dHIA UH ?{{—‘a—qa; aflt m
a7reE) 2 1 HHT= FHEE I ¢
(C) v i & i i Tefa AR
S AT = s AR |

(D) T i R R 3 frree] F F9H AR

gl e 8 |

el ¥ weiv § PrafaRaa wud wfer 3
PSS
9
Eg; ?inﬁga?ﬁ@qamv%mﬁﬁﬁ
A FH I IqH Fdl &
(C) (A) 3R (B)aHI H&l 2
(D) (A) 3K (B) S Tera 2

Afec gferd = das yumedt <1 foredl |
TR ITHB

(A) uHTd

(B)

(C) Fea

(D) Harel

M 'SUN' 1 %2 '54' & & "MOON' =T ET
B

(A) 58 (B) 51

(C) 57 (D) 47
1357%%%%%3#%%%
TRIGRIE SR A 2701 o vy vy |
(A) = e

(B) S Ferienm

C) WA=

(D) HifeH Fuae
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| LT
- Find the Miss;
INg number in the sequy
1.8,?2,64, 125 55 A
(A) o s 27
(€) 25 (D) 16
33. Thed

| ance performed by women in
bridegrooms hoyse is

(A) Rasleela

(B) Phag dance

(©) Lc_Jor dance
\__(D)" Khoria dance

34. Match the Plant structures given in the

Column — A with functions given in the
Column - B,
Column - A Column -B
I. Stomata 1. Absorption of
water
Il. Xylem 2. Transpiration
lll. Root hairs 3. Transport of
| food
IV. Phloem 4. Transport of
water
5. Synthesis of
carbohydrates

L‘S;IE}H.be\answer code.
-2, 11-4,11-1,IV-3

(B) 1-1,11-4,11-3,IV-2
C) I=-1,11-41-21V-3
(D) 1=-510=-3,Il-1,1V-2

35. Harshavardhana ruled Thaneswar during

M: 647 AD  (B) 400 — 350 BC

(C) 200—250AD (D) 250- 150 BC

36. State flower of Haryana is
(A) Jasmine

Sacred Lotus
(C) Rose

(D) Hibiscus

2.

ﬂ1,8,7,64,125.215’4-@?’
32. &
(A) 35 (D) 16
(C) a
w-?..mﬂi‘i:siﬁigm%maﬂaﬁlaﬂ%
33. Tce
(A) “ﬂfﬁ?ﬂ
®) i T
() a;:ga
D) gt I
y W_Aﬁﬁqmqﬁﬁﬁﬁm@lﬁaﬂﬂa
' ﬁmmmaﬁmﬁm
S\ FHIH - B

I W \1
| e 2. ATHIeESH
M. ag‘réﬁfm/\ ,3 ﬁﬁl‘—lm
X qftEe
V. w4, s e
5. wETE3ge Jl
H7oigY]
I 2 I, |
MY 1-2,1=4,111=1,1V-37
B) I-1,11—4,11-3,1IV-2
(©) 1-1,11—-4,111-2,IV-3-
(D) 1-51-3,1=1,1IV-2

YA 3 AHTR T % SN TITEA
o |

(A) 606 - 647 AD
(C) 200 - 250 AD

=T =t e e R
(A) I
(B) A
(C) Tod
(D) TS&

35.

(B) 400 - 350 BC
(D) 250 — 150 BC

36.
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4/201g (1) (E10)
7. PREW Mmeans
_(A) Fopulation Rogul
Wing
(B)  Panchayath Raj Econ®
(©) Panchayath Raj [:-m}intmring Wing
(D) Power Rules Effective WINg

Alins Engineering
‘

mic Wing

3 . - : |
8. Which among the followind cities in which

British COmpany agents seltled in first ?
(A) Kolkata i () Bombay

L(C'_)'T'iadras (D) Kocchi
39.
9. Haryana has __Districts as on
2017 - 1g.
\_(A) 22 (B) 25
(C) 24 (D) 28
4 i .
0 Whlch of the following rivers is not a
tributary of Brahmaputra ?
(A) Kfameng (B) Subansiri
(C) Dihang \(D}—Subarnarekha
41,

Following is not a part of neuron.
Collecting duct

(B) Dendrite

(C) Cell body

(D) Nucleus

-, AT

\\37) PREW i 314 ?

=" (A) Population Regulations Engineering
Wing

Panchayath Raj Economic Wing
Panchayalh Raj Engineering Wing
Power Rules Effective Wing

(B)
(C)
. (D)
':/mf Frtferfiaa 12 o wre 3 ffem A 3 vsie
geell st sraerud gu 7
(A) RIeTeRTl (B) wfral
(C) warE (D) ==

39. &R@mn H 2017 - 18 <
(A) 22
(C) 24

(40" P 1 e 7 s o
— TR ?
(A) T (B) gl
(c) fegm (D) FevitaE!
417 Fr=afafaa dfe = uw ymad R
(A) wmevl afeeh
(B) Sgre_
(C) =R frma
(D) =

forer 21

(B) 25
(D) 28

42. Readthe following statements and choose

the appropriate one.

(A) Indiahasthe largest number of medical
colleges in the world.

India is the fourth largest producer of
medicines in the world and is also a
large exporter of medicines.

(C) Both (A) and (B) are wrong

\_A4P7 Both (A) and (B) are right

(B)

43. Kapidhvaja is another name for
(A) Krishna (B) Balram
Arjuna (D) Kamna

42! Frafafad Fu @ ufge ok swEa gho |

(A) ;mﬁﬁwﬁaaﬁwﬁ%mzﬁﬁa
1

WA fawa & ganedt & den gl we

IeqTeeh 3R sy s R |

(A) 30 (B) Al TTera ¥

(A) 3 (B) A wel &

Eﬁﬁﬁm____*wagﬂmq% |

(A) e (B) SR
(C) arfa (D) @l

(B)

(C)
(D)
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ERIIEIE | 1t
o
38, A gmall, palm held drum is called as 44, ‘;}::;T_j},l\[ (B) ‘l}Eﬂﬂ
(A) Dolak (B) Mrudangam A) ?ﬂ"'(; (D) BHE
(C) Tabla V(DY Damru (C) Ailc F{:r?l fr{UTTUm ?Wﬂ'@(ﬁ-lﬂ% |
45.  Find the word which is different from the 45, o ‘uﬁ:"ﬂﬂ (B) CGIE!
other 3 options given below, ,:mm
(A) Nepal (B) Bhutan ) (D) AT
(C) Pakistan LB Manipura ; (C) wif o B feru ufirg 2
46.  Altat Hussain Haali is famous for hig 46. aTE-‘ﬂT‘F@q (B) Hie
(A) Dohe (B) Sonnet (A) are (D) "Il
\__(C)— Poetry (D) Mushairas & 2
(©) o ST AR | <1 U7 A
47. Two coins are tossed simullaneously. The 47./ al ﬁ?’ﬁa”‘ﬁ' g@ﬁ 2
probability of getting exactly two tail is T Eh‘@ﬁ ®) y
2
(A) 1 (B) %2 (A) 1 y
1/ 1 (D) /a
© /5 (. 7 (C) A )
P HDET |
48. Tangririver is the tributary of a8/ ol T : :ﬁﬁ
(A) Sahibi (B) Indori (p) arfed (B) el
WMarkanda (D) Ghaggar qﬁg}’fqr%% (D)
49. Resistance of a metal wire of length 1 m 497 1. Ffﬁrg%@ m@%?ﬂ(a’ﬂ b 2PGC
is 26 Q at 20°C. If the diameter of wire is T 26 02 | gfe a1 = 0.3 . 2 Gl

0.3 mm, what will be the resistivity of the
metal at that temperature ?

<q AT W ST Bt e = Ev ?

(A) 4.84 x 106 Om (A) 4.84x107°°Qm
(B) 3.84 x 10-6 Om (B) 3.84 x10°° Qm
(C) 2.84 x 10-¢ Om (C) 2.84x10°¢ Qm
1.84 x 10-° Om (D) 1.84x10°Qm
50. Which of the following natural resources is |  50.¢ f=ifeifia o & fora il dra 1 ‘Tofl &3
referred as ‘buried sunshine’ ? ,fr‘iﬁ’l' Fea s ? ‘ =
(A) Gold (B) Silver (A) GFI (B) =i
ue‘)/@al (D) Shale gas (C) =iTem (D) 9=
. _ / 3 -
91. If 5tana =4 then :ana ZCOSa is 51. Ife 5tano = 4 4 23“\0‘.-—3005(1
sina +2cosa sin
equal to TR o+ 2C0Sq
o 1 5
e = (A) —= hat
A < ® 5 ® 2
(C) 2 (D) O (C) 2 D) 0
-9-
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g : o _~ad on the banks of
52, mﬂm fov="
river

AT o Ganga
\(A) Saras\,a" (B} Kavegri
() Yﬂmuna 101

S3. Under GST which ol following goods or

Qs
tems are exempted NIL tax rate or 0%

'S charged 7

1. News papers

= KunkUm and E,ndi

3. Processeq Frutand vegetables
4.

Silk worm and knadi yarm
S. Spacecraft
(A) 1,3 and 4
(B) 1,2, 3 and 4
(C) 1,2 4 and 5
(D) Al the above

54. —— IS a non-metal but it is lustrous.
(A) Flourine (B) Chlorine

(C) Bromine (D) lodine

S55. Which among the following countries with

which India does not have Free Trade
Agreement (FTA) 2
(A) South Korea
(B) Japan

(C) Brazil

(D) Thailand

56. Jagirdars means
(A) Bankers

(B) Landlords
(C) Agriculturists

(D) Businessmen

Sal trees are found in
(A) Gurgaon forests
(B) Sonipat forests
(C) Rohtak forests

/"\"7 — = =
| 54] @WW@@WW%]

(0 O DL EIN D ELE R ER R
2. ARmwad 34 F AT well-Fedl 2 |

(A) FrEdl (8) "M
(C) = (D) Fh

53. Fr=feifud AR PA-Jomm 198 GSTH AT
Ty & A1 I F 2 41 0% it 2 7
1, THTER 9H
2. FFu AN EH
3. yEEHd %o 3 gfed
4. Tgm F12 AR @ urm
5. JFANEd™
(A) 1,334
(B) 1,2,33R4
(C) 1,2,435
(D) I al

(B} EIRN
)

(A) wIH

(C) MM
55. fr=ifeiftaa 3 & form 2w & @19 9Rd 1 954

SR I &l & 7

(A) efequ i

(B) UM

(C) FTsiA

(D) UrgeiE

Anfiter &1 319 2
(A) F=

(B) wHRER

(C) Fu=

(D) FRER

|1 34
(A) TOTE % 5
(B) THYd & 99
(C) Ueds & 31

56.

57. F 9T S 2 |

(D) Kalesar forests

(D) FTE & aq
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S8, Find the number which not like the othe

59.

60.

61.

62.

3 oplions.
a/ /
A 74 ® A,
5/
©) Y20 © 7

/28

A number consists of 2 digits whose sum i
4_11 18 1s added to the number, the digits
get interchanged. Then the number is

(A) 31

(B) 22

()} 13

(D) none of these

Campaign against female foeticide is
called

(A) Yatra Scheme

(B) Bhagya Jyothi

(C) Beti Bachao, Beti Padhao
(D) Lady Police Scheme

Consider the following statements with
reference to Constitution Amendment Bills.

1. It can be introduced by the private
Members of the Parliament.

2. The President cannot disagree over

it, he can only send it back once for
reconsideration.

Which of the above is /are correct ?
(A) 1only

(B) 2only

(C) None

(D) Both1and?2

The famous Patriotic song, which stirred the
common people of their nationalism during
freedom movement, “Sare Jahan Se Achha
Hindustan Hamara" was written by

(A) Mirza Galib

(B) Mohammad Igbal

(C) Rabindranath Tagore

(D) Sadaat Hasan Manto

58.

59.

60.

61.

62.

-11-

4/2018 (1) (E10)
i ol AR ) ad A B
SEUE

®)
A %A A?

5/20 (©) Vza
. i yieh & For 4 2 afe g
w e ! (AN R W S e A
LRLRLINTEE: (T
B et A C

(A) 31

(B) 22

(C) 13 |

o) AT
S E’%ﬂﬁ g afvm
FEeATd € |

(A) T A

B) WIg

(D) wfeen g A
@ﬁmﬁﬁmﬁm&mﬁﬁﬁﬂ%ﬁ‘m
o o R | |

R e AT Ik EUUSIBIISEL

2 .
2. T TE T STEEHT Té & Jehdl, e
fem  fore e R |

IRAYPA-TMTA R ?

(A) a1

(B) Had 2

(C) s TE

(D) 1 3T 2SI

A1 TR % I 3TTH 94 =i TLETE
HISAT § W3 e widg, sowifad nfd ‘o
ERE ) %z\‘::@rﬁgqm’ G
@ mn

(A) Tt mifers

(B) HIEHE ShaiTed

(C) Tamsmy 3R

(D) HEd g6 Wel

(C)
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Ga.

64.

65.

66.

67.

68.

ed. ufe Ayl p (%) = 2x*

(SRR 0

+ 3x — 3a 1 T I

[

"y , qomial
P {x;J is'l,:l_z"m o l,]:, en value of a is ~ 3% d a A ®
- ‘ (
(©) o 0) 3 (C) O P
. m ol equations 64-/ JQ %4 J5 y =0, wﬁ: %4 \ﬁg y =0
The solutions of sys'® I
VZx+ fBy o, Ji1+ V15V =0 ar0 o syorefl % v R
(A x-2,y () xm2: Y " i
(B) x = B, vw (B) x_:’;(i:-y Hr‘
(C) no solution (©) EET:, R
(D) infinite solutions (D) Ad &
Haryana Assembly House is at 65. efEmmfaumaw q.g |
(A) Rohtak (B) Ambala (A) e (B) AT
(C) Chandigarh (D) Panipat (C) =M (D)
S ehdl Hz T
When object js placed atcenter of curvature | 6. ST a%] 1 Uch Hddc] dul % 3 A
of a concave mirror, the image size is ™1 Sl 2l gfeifera o1 SATHR &
(A) Enlarged (A) afdd
(B) Diminished (B) =g
(C) Same size as that of object (C) = % dAT €
(D) Point-sizeq (D) ferg % 3R &
;\_ff?ich of the following is not a right 67./ frrferfiaa § Q BE-T1 Akl L EER
iflerence between democratic and other » . 3 9
forms of Govermment 7 % 311 w4l o o T AR A |
(A) In Non-democratic States don't not (A) M -dATehdIHH TsAl |, N SCIGR: L
require all citizens to take part in - ATEYTF T !
politics. o a < fere il | |
(B) Both forms have universal adult (B) @i &9 4 iy aI%h TSR |
franchisee, i.e., one vote and one :
T, J1 Uk U Ueh 9 2 | |
(C) Most non-democratic Governments (C) HailYeh TeFdiEe gL a2dl & &
would like citizens not to take part in : AR : .
politics. H AF ‘
(D) Democracy depends on active political (D) eirehrad |l TR T w i Teaf '
participation by all the citizens. it w Bk 2 | '
The zoo had some Lions and some Parrots fafeamer ¢ |
. 6 . b
The keeper counted 15 heads and 50 legs, = i | @ TR 3 i € &R
then the number of Lions is 1 15 i 3R 50 21 Rt | 91 ) S 2
(A) 9 (B) 10 (A) 9 (B) 10
(C) 8 (D) none of these (C) 8 .
(D) ¥ A Y 7
-12-
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Fill up the blanks with approprial® prepositions.,

69. | prefertea collee.

(A) against
(B not
(C) to

(D) than

70. Qur flatis the second floor of the

building.
(A) In
(B) by
(C) at
(D) on

Change the given sentence Into indirect

speech.

71. | said to the boys, “You should do your

duty”.

(A) | said to the boys that you should do
their duty.

(B) Itoldthe boys that they should do their
duty.

(C) |toldthe boys thatyou should do your
duty.

(D) | ordered the boys that they should do
your duty. .

72. The teacher said, “l am busy now".

(A) The teacher said that he was busy
then

(B) The teacher says that he 1s busy
now

(C) He was busy says the teacher now.

(D) The teacher told that | was busy now.

-13-
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-C’B“ word.

Pick out the wrond?

73. (A Reticent
(C) Irretrival®

(D) Plenary
74, (A) Intermitte™
(B) Intrinsic

(C) Incongfugusle
(D) Impurtu®®

orrect options:
75. | notified __— | had changed my
. notifie

address.
(A) that
(B) tothe ban« that
(C) with the pank that
(D) the bank {hat

Choose the c

76. |decided to stayathome last night. | would
have gone out if| so tired.
(A) wouldn't have been
(B) hadn't been
(C) wasn't
(D) weren't

Choose the correct form of the verbs.

77. Tom ____ his hand when he was cooking
the dinner.
(A) is burning
(B) have burnt
(C) was burning
(D) burnt

78. There is a programme on television that
| want to watch. in five minutes.

(A) It start
(B) It must start
(C) Itstars

(D) Itis starting
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80, \‘lﬂh‘m i |
(\\l\ ’ Uﬂ)
Loomanen 3, 4
L ag.
R I ¢ 8
< SEAVIFY :; 19
A 1 - o d'] J-d 4o 8
I | Q- 3I-H 4-%
WY g N 2y 3,.§ 4 - 37
D 1 . WM 2.4 3-%3 4-3
81

82,

83.

’ﬁ -

. l‘\“.}]:\{qu ﬁ g ;
(A) R ES
(C) aig

RICII f[?ﬁlﬂﬁn‘ e T R |
(8) @l
(D) Ik

ol .

e RSN e - g R ?

(A) e (B) eeqey

(C) 3N iy (D) wigshfe

SR NS & Ry 5 aged B-a By
ST Qv

(A) =1 (B) 34
© R 1) ==

S Y R S wer e one 2
(A 3w iy ara

(B) Frawm 3 sy A wers

(Cy wlrgset wrl &

(D) <Tenahl @ &1 &

B5. IV args wepet 0 ) ) g AT & e

Ua i gfiray |f|fl:4m‘ |

(A arpaleg fen, s e, Adum ara, v

e, eNfem

stetafe fonatt, wnd arenn, 19 e, |
Uik efepet, d1fem

ek f')'i’ll, i AT, BEUIE EAEIRIES
A, =hfem

deprien T, o area, ufae e,
Uef; e, #fen

(B)
(©)

(D)

86. ST el e o1 Av wren wre = fpony w0,
% I -] N Bl 2 7

(A) =hifeFa (B) 37

(C) (D) wfawrfF
87. '’ wieg = wgaEA w9 B

(A) 23 (B) Zrfid

(C) ardim (D) i

88. ‘Hi s =\ gu fUerell ¥' 3@ qmaw &) = T
H forfay
(A) W18 F=a %l 3y Nerrf s 2 |
(B) HI & w=a i gy femf e |
(C) =1 ==2 = gy Tyeman | -
(D) =i A == = gy femn s 2 | /

89. Frerferaa § @ 9l adh =1 s S |
(A) ufdeafy (B) iy
(C) wiieefify (D) afeefify

90. % T o1 T T - 2 7
(A) foom (B) Y
(C) sy (D) W
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